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One-time Signatures for Arbitrarily-long Messages

Let H = {hi}i∈I be a CRHF with domain {0, 1}∗ and range
{0, 1}n

Use Lamport signature scheme where hi (m) is signed instead
of m
Proof?
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Multi-message Signatures

(sk0, pk0)
$← Gen(1n)

Let σ̃0 = ∅, i = 1
To sign mi :

(ski , pki )
$← Gen(1n)

σ̃i = Signski−1
(mi‖pki )

Output σi = (i , σ̃i ,mi , pki , σi−1)
Increment i

Proof?
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